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1. Sol.(A)

In each rotation relative speed becomes zero twice and becomes maximum twice.

2. sol. (B)
Magnetic moment, M =1 A= (%H}aZK
3. Sol. (D)

Inside the cavity, B=0

Mo

Outside the cylinder, 27r

In the shaded region

__ &
o= 2ﬂr(b02—a2)[r r j

atr=a,B=0
at r=b,B=”—°I
27h
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4. Sol. (A)

V_+V. +V
%pwg :Vmpcpwg +prwg

V, =V, (1-2p.)+V,

if pc >%:>VW <V,

if poc <%:>VW >V,,

where, V,, = volume occupied by water in the shell
V, = volume occupied by air in theshell

V,, = volume of the material in theshell

5. Sol. (C)

Let 'q ' be the final charge on 3uF capacitor then

23 3
6. Sol. (D)
AQ =nC,AT (Isobaric process)

=2><ng(35—30)
=208J
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7. Sol. (C)

X —coordinate of P = wR (iJ
4o

:? > Rcos45°

.. Both particles P and Q land in unshaded region.

8. Sol. (B)

L+e=i
4

=L=—-¢
4

=16.4-1.2=15.2cm

9. Sol. (A)

10. Sol. (D)
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11. Sol. (D)
12. Sol. (C)
13. Sol. (C)
14. Sol. (B)
15. Sol. (A, C)
A
100
1002
L]
> a0
/4 100
Sy 2

Capacilive circuit

Inductive circumit

20

w
I =————+— ahead of voltage
10042 4 J

| .20 .7
lower 50\/5’ 4

LJI2+12 =\/%z0.3A

_ 20 100-1042.

V. =
1000 100\/5

behind voltage
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16. Sol. (A,B,C)

60" " 6k
60" 4k

Line PR is perpendicular bisector of all the dipoles.

At point O : Z%:O

4re,

17. Sol. (B,D)
By calculation, if Mass of P=m
and Radius of P=R

Then Mass of Q =8M
and radius of Q =2R
and Mass of R=9M

and radius of R =9"°R
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18. Sol. (A,B)

e o i o e W

19. Sol. (D)

_ Mgsino

I
M+?

_ Mgsing

P MR2 ~

9
M+Rz 2

a, =gsindasl, ~0
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Z.g.f
. C()p = R
2.9.0
(OQ R
@ > O
20. Sol. (A, C)
1
1 B
B@
@ = zero
d—¢ =Z€ero

.. A,C are correct.
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